1.10 Surds

Student name: Score:

1. Simplify.

Vo8 —/50 +8

2. (a) Simplify \/7_2—@

Answer(a)

(b) Write in its simplest form by rationalising the denominator.

1
2-43

Answer(b)

3. Simplify.
V12

4 (a) Simplify /75 .

Answer(a)

2
(b) Simplif by rationalising the denominator.
phity — N g

Answer(b)
s (a) Simplify 8+/2 +248.
Answer(a)
(b) Simplify by rationalising the denominator.
W2
3-\2
Answer(b)
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6. Rationalise the denominator in each of the following.

2
a -
W
|
b)) —
0 —=—

7. Simplify.
(a) V50 + 48
) (5+43)

8. (a) Simplify.
{200 —+/98

(b) Rationalise the denominator.

9. (a) Simplify.
V7527

(b) Rationalise the denominator.

Answer(a)

Answer(b)

Answer(a)

Answer(b)

Answer(a)

Answer(b)

Answer(a)

542

Answer(b)

10. Write each set of numbers in order starting with the smallest.

(a) % 0.3
Answer(a) .. .cceseeneens ’
smallest
(b) 245 %;
Answer(b)
v ‘\'\"‘534*, 2
Lufe y |

Jo3 0.29
(s s
s

.2

2]

e —————— L2
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11. (a) Simplify (332 —2)(2v/2 +1).

Answer(a)

10

Vs

(b) Rationalise the denominator of

Answer(b)

12. (a) Simplify.

V27 +4147

(b) Rationalise the denominator.

S

L
+
Ln|

13. Simplify (5 ++/3)°.

14. Rationalise the denominator.

15. Rationalise the denominator.

«,E+1

16. (a) Simplify.

V3(4v12-17+3)

(b) Rationalise the denominator.

S

17. Simplify /75 .

18. (a) Simplify +/125.

Answer(a)

Answer(b)
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(b) Simplify m by rationalising the denominator.

- [3]
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19. Simplify the following.

(a) 32
]

b) —

(®) V2 +1

20 (a) Simplify +72.

A .
(b) :%” = ptgn2

Find the values of p and g.

3

—av2 +b
21. ‘\'E-f‘l A

Find the values of @ and 5.

2o By rationalising the denominator, simplify

12

V6—2"

23. Multiply out the brackets and simplify.

2v3 -1 (V3 +2)

24. (a) Simplify.

@-VHE+v3)

(b) Rationalise the denominator.

5

V7

% U*\“ﬁ ‘ ‘D
e ”"Y%&J

Answer a

Answer(a)

Answer(b)

Answer(a)

Answer(b) p =

q:

[1]
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25. p=5+243 g=5-2v3

Find p2 — q2 , Writing your answer in its simplest form.

..................................................... [3]
26. (a) Simplify fully.
v 700
.................................................... [1]
(b) Rationalise the denominator.
1
7-v2
.................................................... [2]
27. Simplify.
V75 -V12+V27
.................................................... [2]
28. Rationalise the denominator.
1
V5 -1
.................................................... [2]
29. Rationalise the denominator.
9
V7 -2
.................................................... [2]
30. Expand and simplify (23 —5)(4++3).
.................................................... [2]
31. Simplify by rationalising the denominator. 3
2v2 -1
.................................................. [2]
32. (a) Simplify fully.
V75— V48 + V12
................................................. [2]
(b) Rationalise the denominator, giving your answer 1in its simplest form
1
V3+5
................................................. [2]
c \Qaer ‘j\
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33. (@) Expand the brackets and simplify.

(Va+Vb)(Va—b)
................................................. [2]
(b) Rationalise the denominator.
. S
V7 +V6
................................................. [1]
(c) Work out the value of
1 n 1 L 1 + 1 " 1
VO+vV8 VB+VT VT+V6 V6+V5S V5+V4
................................................. [2]
34. Simplify.
12
@ 7
.................................................... [2]
(b) (5-2v3)
.................................................... [3]
35. In each of the following, rationalise the denominator and simplify your answer.
6
(@) 73
.................................................... [2]
V3
® 75 V3
.................................................... (2]
36. Rationalise the denominator and simplify.
142
3+V2
.................................................... [3]
37. (a) Simplify I8+ +72.
.................................................... [2]
(b) Rationalise the denominator.
1
V542
.................................................... [2]
e
o 6
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38. Rationalise the denominator and simplify your answer.

32
V8

39. Simplify.
V32 =72+ 50

40. Rationalise the denominator, giving your answer in its simplest form.

5+V3
5-V3

41. Simplify.

(5+2v3)?
42.(a) Simplify /98 .
(b) Rationalise the denominator.
1

3-v5

43.(a) Simplify 20 ++125.

(b) Rationalise the denominator and simplify your answer.

44, (a) Simplify.

V300 - /27

(b) Rationalise the denominator and simplify your answer.

45, Expand and simplify.

(3V2+7)?
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46. (2@—3\@)2=p+qx/g

Find the value of p and the value of g.

47. Simplhify.

V125 + /80

48. (a) Smmplify.
V75 —V27

(b) Rationalise the denominator and simplify your answer.

10
5—4/5

49. Rationalise the denominator.

5
V3-\2
§ U*\"‘é “f}:
22y 8
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